ANSWER WITH EXPLANATION

Solutions (1-2) :

R and U are husband and wife respectively
U is mother of L and D

U’s daughter is L.

D and J are are husband and wife and K is
their son.

F is mother of J.

1. (d) As F is mother of J and J is wife of D, so D
is son-in-law of F.

2. (b) R is grandfather of K.

Solutions (3 — 5)
S>T,R
uUu>Q>P
As R does not have least number of offices so
it is T having lest number of offices.
The final arrangement is
U>Q>P>S>R>T
23 12 5

3. (¢) R has the second least number of offices.

4. (d) P has number of offices more than 12 and
less than 23.

So, 18 is that number which is divisible

by both 2 and 3.

5. (d) R has more than 5 but less than 12 offices.

Solutions (6-10) :
6-7):
S<L<IPzZE>R
L>Q
Q<L=I=PzE>R

6. (c) Conclusions :
I.P=S: True
II.1>R:True

7. (e) Conclusions :

I.P=S:True
II.1>R:True
(8-10):
G>R=2E=A<T<S
D<A<J

D<AS<T

G>R=zE=A<J

8. (e) Conclusions :
. T=D: True
II. R>S: Not True

9. (e) Conclusions :
I.J>E : Not True
Il. J = E : Not True

J is either greater than or equal to E.
Therefore, either Conclusion | or
Conclusion Il is true.

10.(a) A2B>C<D<E<F
Conclusions :

I. A= E : Not True
II.C<F:True

11. (b)
(63-24+8+4+2x3)=63-3+6=66

12. (b)

Z oY u v
13. (b)

6x8+3=51

I xd+5=8a5
Similarly,

20«5+ 20=120

14. (c)

AABC, AACD, AADE, AACE, AABE, AABD
AADG, AGDE, ACGE, AACG,

AAFC, AFGD, AFCD, AAFG, AACG

~ Total triangles = 15

15. (b)
Bx54+3x3=39
5x7+4%1-51
Similarly,

ExL+3=4-37

16. (c)
Correct meaningful order is :-
2.Clay 5.Bricks 1.Wall 4.Room 3. House

17.(c)  18.(d)

Uncle

kK Ff—n

L

C-

Fisuncle ol G

19. (a)

[SET - 7]



20. (b)
21. (d)
bxE&=36,dxb6=18,1x8=8

22. (a)
Thepatternis 3x 12, 3x22,3x32,3 x4 3= 02 3= 67

23. (¢)
Eight is added to every letter to obtain the corresponding
letter of next term.

24, (c)
Each letter of 1st term is moved seven places forward to
get 2nd term. So, ‘c’ will be correct.

25. (b)
2 is subtracted from each digit (4 —2) (6 —2) (7 —2) (3-2)
= 2451
26. ()

27. (c)
wax/wax'wax/wax/wax

28. (d)

29. (c)

g oOxl3 11
®— 1 copresentageofQ - 3x -8

31. (a)

hit [Ka|] tom = tie the
tin lot = and raxin

of => fod

32. (b)
Each letter is moved one letter backward

33. (b)

34. (c)
A+B+C=60andA+B =238, s0C =22

35. (c)
A—->B—>C—D,G—H->1>],M—>N->0-P

(36 — 40) :

(festival) for only === pa Xu
provide [Feacs) X [Womene>sr{dl) nj
like X I
in Gestvalsf@IED) sv A

36.(c) 37.(a) 38. (b) 39.(d)  40.(d)

(41 -45):
M?S M 7 M'swife
s1ster g
. R M'’s brother
M’s
mother Q R Ms
brother
M's
S0M K M's
da.ughﬁer
M’s
father

41.(b) 42.(c) 43.(d) 44.(d) 45.(a)
46.(b)  47.(a)  48.(c)

49. (d)

The middle position out of 31 boys is 16

Hence, Amal’s original position from left end is,
16-3=13

Hence, the original position of Prabu from right end is,
=(31-13)+1=18+1=19th

50. (d)
D>B>C>A
Hence, D is tallest amongst all.

[If any query about these questions please contact 8167092555 from 10 am to 6 pm.]



